Awaa

D = K\”(\ ’;w 5 ) ‘."]‘\’/?‘ o \:qm" ga PN ;

. g 9 )L\(:"“° 8 do=\bin , da=T0i

o) t\ =) . V/i\"":?».f:‘\\ v

j ;\.,_ _’%: .\(—T/ 0 54U\ N +

: Ym AHR J:g\ =5)\. ﬁ Vo| G !

. / s\RC = J‘jc‘f

F v:""“.="'.a > LS v dexiyy, =082 X 194 = o
L;\f ; 2 % L Ve < /\'}f\:‘ S \-j;):_ -QL’,f(

,L— Ny = Rty Ris) e - [— W/ =554
T R /A

P o S s

D=4 X054

‘\X\\ A=q.nsa% |

b \'15"&%3 \1 31%s
iy i _‘\g« 2?/

L:si“*lm




15415 | Y =0.,06%5 %F-" Y. = bl.7 & i, h=024:n  Find VL,
Pt Yrh = 2h =P Po-PB = h(V-Ya) (|
P,=oﬁ;§m§ t¥E - & RN = )
vV, :/‘[1.3.,_._«11 ;Tani: 34{)3% y—..__.....i’.:_/--_
lb.b | B=s0° 21 g 42295 =002 B Fal Ex ond Fu.
us B

L= 19% By Q= V,A~o%lf§3 s
B =p4- {V’z)( Vaxxﬁ Vix = 21 Vay ;V.~cos{f@§«q V;.;, 8 Fx
Vox = ~J4.14 B B =-30.44 Ib 1 Fq

5«% =p-8- (Vm ‘%’M\i Vw~?“’§ Vu V4 Sin 190-8

= (b.95 & Fy = 14.29 1




'ﬂOW MNue = O, )_29—3'%
aveer 10 P =0 ouefs>

UG or 156541 = l. q‘f ’b’f#’

Verecia= 37, | RS

Force® |-+ 0,229 (3] -(37.)




’?of"_' l

How e woete!
Q-
@:

I
>
<

|

s0.27X20)

(A= 0,993~%

force  UGrer Y

Ry= Pav(0+5in6)
Ry= 0.251000*0, 543430
Ry= 7072.5N

. For« weter X
Rx = PGV(O*CO"@)
R)( = |. G661 0eor 0.3 730

Rx= 55¢15.)uN)

Yelocity X
Vx = \ease
Yy* 30085
Vi = 2398 m)$
Veyeeity Y
Vy= Vsi~0
Vy= 205115
\/7' 708 /s -




\/"'CC"(A, x (2
l%-KMjs"‘ \1:«\}5 P )498 l‘f\/S

\/a\ou‘%s
Vo= 16550 0

V=8.62rvs

Mass
M= Jooo *B0.27 485
(M= 5%6.6 kys
Andle ve\ocz%
- e (F%)
Ou=24.56
N Gagle
2U.5¢-)5% .54
e Veletith

1967 €23 9. 56 = 180y




foree X ol
= S%.-t « (149 - 1.9%)

§32. 12N

‘&t@ Y w“‘
=586.C 27,76

Wss2y




®

&

Rt 1o nidon |




